Quiz' ¥ General Chemistry 1 Lecture Fall 14 Dr. Hahn 20 pts 1029W 9:30am form A quiz #
Name é o Name NI
{print name) P (sign name)

Please show work for fill credit and to' get partial credit. (Pum=Pa+Pp+Pc+..)
(2% = mole fraction = Pa/ P =n 4/ n totaf )

1. If the total pressure inside a cylinder is 1.2 atm and the pressure of the water vapor is 0.5 atm, what |
the pressuse of the only other gas in the cy]inderl hydrogen ? Show work {4 pts) W
feotat = |, L odn P, = Ol o
Clotod = T, + G = algpbra =

Fin = - 3
2. & TIfthe principal qqaﬂltf:?ﬁnmnbm' (n)/i; 4,2\;'!)&& is the@qﬁagon of;;"he allowed i
momentum quantum number (2} (2 pts) . _ J to Z{. ___i-
e O Nl o O o (4-1) )mi?:‘t# o T

b.  How many orbitals are in the p subshell 7 {p is the angular momentum quantum number £— 1

0 @) irle one) (2t —1, 0 ¢

¢ How many maximum rumber of electrons are allowed in the p subshefl?

{(2)@(10) {14)] (circie one) (2 pts) 2 e IV by M K ;:’Ué &5

3. Give the electron configuration for the element 8t using the notation (15% 2s2,.....). Show all
electrons starting from the lowest energy levels. (10 pts)

Extra credit: a What is the valence electron configuration for the above element ? use same notation as above

(2 pts) . ) - -
o | 2751/ 2,0 | Nt U

b, Give the elecﬁﬂlumﬁon diagram for the valence electrons for the same element.
(use the notation 4 14

s 2s i‘/ _ii_._




Quiz' V  General Chemistry [ Lecture Fali 14 Dr Hahn 20pts 1029 W 9:30amform B quiz #

Name t fnn - Name
(print name} / (sign name)

Please show work for full credit and to get partial credit. (Pows =Pa-+Ps+Pc+..)
(% = mole fraction = Pa/ Piwl = N 4/ D 1o}

1. If the pressure of nitrogen is 760 mm Hg and the pressure of the helfum is 20 mm Hgf what is the fota 4

- pressure the gases inside a oylinder containing the two gases ? Show work. (4 pts) &« m %o il
Wé@'f‘ od = ﬁ’z, + Py &

kpé—@/\’-a[ - ¢o Mm{lvg t ZO&mﬂg,, T80

2. a Ifthe angular momentum quantum number {¢) is 2, what is the equation of the allowed possible

/magnerlc quantuy number (m:) (2 pts)

‘ e -‘-‘ ’
GQ'” OI"L—f-i) 0; Zl /O/_‘-l TL
How many orbitals are in the d subshell ? (d is the angnlar momentum quantum aumber of = 2)

[0 (1) {é)@(cimle one) (2 pts) “"2., - | j Q + )/ +2 W__s_

¢. How many maximum number of electrons are allowed inthe d suhshell?

£2) (6)(10)f14)} (circle one) (2 pts) T ¥r= /08

3. Give the electron configuration for the element  Br using the notation (1%, 28%,.....), Show al}
clectrons starting from the lowest energy levels. (10 pts)

(57 257 24% 38 44’- %a("’f;,f
@@ ip/r .

Extra credit: a. What is the valence electron configuration for the above element ? use seme notation as above

e 4t @m W T
G carm =

b. Give the electron configuration diagram for the valence elecirons
{(usethenotation _4 |, 4 [ )

1s 25 | /{ /!Vi_




Quiz V General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/29 W 10:30am form A quiz #

Name L’—@“\/ Name 6[') in K

(print name) a : (sign name)

Please show work for full credit and to get partial credit. (Pom=Pa+Ps+Pc+..)
(x =mole fraction =Pa/ Piowt =10 o/ 1 rom) :

1. .If a mixture of gases has a total pressure of 0.955 atm and the oxygen part of the mixture of gases is
0.150 atm, what is the mole fraction of the oxygen in the mixture of gases ? Show work. (4 pts)

0. 955ah, =Y

2, a. . Ifthe principal quantu:n number (n ) is 3, what are the possible values of the angular momentu
quantum number € (2 pts) Q [l.i (I’] - = L+ = &) 5

b. How many orbitals are in the f subshell ? (fis the angular momentum quantum number of ¢ = 3)\ *~ / -(/} _«{_i

%

OGO e ary 9, =2, 7,0, 1, T2 17

c. How many maximum mumber of electrons are allowed in the f subshell?
() (6) (10) eircie one) (2 pis) 2x1=/ 2

3. Give the electron configuration for the efement Sr uging the notation (Is%,25,.....). Showa
electrons starting from the lowest energy levels. (10 pts)

15t 25y 2pP 3 vk 4 ¥ 2d") 45

credit: 2. What is the valence electron configuration for the above element 7 use same notation as above

@ pts) -
Toge iy )
| ;(I'jaiiﬂ-é C‘Lf?G _b
b. Give the electron configuration di trons for the same element. (2 pts)

{use the notation 1 4 k)
1s 25

ov bi€als
S WA-AS
25 - —




Quiz V General Chemistry [ Lecture Fail 14 Dr. Habn 20 pts 1029 W 10:30am form B quiz #

Name - K&q Name

{print name} V7 {sign name)
Please show work for foll credit and to get partial ¢redit. (Pt =Pa +Pa+ Po+ )
(x = mole fraction = Pa/ Prot = 11 o/ 11 o)

1. If water vapor is 0.12 atm and the total pressure of the gases collected over water is 1,23 atm, what is

the mole fraction of the wates vapor 7 Show work, (4 pts) ‘ (—)
~
O = Otlabn  Pegbs = [ Loabn W 2

Ky = Oultabs
ho ¢ DI - 0099

2. a  Ifthe angular momentum quanttm number () is 2, what are the possible values of the magnetic .
quantum number my_ == "'7{ "‘I) U/; 't—[{: fL
b.  How many orbitals are in the s subshell ? (g is the angular momentum quantum number of € = §)

[(0) @é) (5) 1 (circle one) (2 pts) "Q':’O/ Mp =0

¢.  How many maximum mumber of electrons are allowed in the s subshell?

@(5} (10) (14)] (circle one) (2 pts) s Fen Oy 46€ = A@\ | J(,{ $F

3. Give the electron configuration for the clement N using the notation {1s%, 2¢%. .. }. Showall
clectrons starting from the lowest energy levels. (10 pts)

4 2% 2

@B (DD

Extra credit: 2. What is the valence electron configuration for the above element 7 _use same notation as above

R Ot v

b. Give the electron configuration diagram for the valeince electrons for the same element. 2 pts)
(usethenotation _d [ 4 | )
Is 28




Quiz V General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/29 W 9:30am form A quiz #

Name Name b /%
(print name) (sign name)

Please show work for full credit and to get partial credit. (P =Pa+Pp+Pc+..)

(%, = mole fraction = Pa/ Puww =8 A/ 1 toal)

1. If the total pressure inside a cylinder is 1.2 atm and the pressure of the water vapor is 0.5 atm, what is
the pressure of the only other gas in the cylinder) hydrogen ? Show work. (4 pts)

2. a. Ifthe principal quantum number (n) is 4, what is the equation of the allowed possible angular
momentum quantum number (f) (2 pis}

=

b. How many orbitals are in the p subshell ? (p is the angular momentum quantum number £= 1)

[(0) (1) (3) (5) ] (circle one) {2 pts)
c. How many maximum number of electrons are allowed in the p subshell?

[(2) (6) (10) (14)] (circle one) (2 pts)

3. Give the electron configuration for the element Si using the notation (1s?,2s%.....). Show all
electrons starting from the lowest energy levels. (10 pts)

Extra credit: a. What is the valence electron configuration for the above element ? use same notation as above

(2 pts)

b. Give the electron configuration diagram for the valence electrons for the same element. (2 pts)
(use thenotation _ 7 L, 11 )
s 2s




Quiz V General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 10/29W 9:30am formB quiz #

Name Name _

(print name} (sign name)

Please show work for full credit and to get partial credit. (Puta=Pa+Pg+Pc+..)
(% = mole fraction = Pa/ Protal = 0 A/ N totar)

1. Ifthe pressure of nitrogen is 760 mm Hg and the pressure of the helium is 20 mm Hg, what is the total
pressure the gases inside a cylinder containing the two gases ? Show work. (4 pts)

2. a. If the angular momentum quantum number (£) is 2, what is the equation of the allowed possible
magnetic guantum number (m,) (2 pts)

f =

b. How many orbitals are in the d subshell ? (d is the angular momentum quantum number of £ = 2)
[(0) (1) (3) {5) } (circle one) (2 pts)

¢. How many maximum number of electrons are allowed inthe d subshell?

{€2) (6) (106) (14)] (circle one) (2 pts)

3, Give the electron configuration for the element Br using the notation (1s%, 25%,.....). Show all
electrons starting from the fowest energy levels. (10 pts)

Extra credit: a What is the valence electron configuration for the above element 7 use same notation as above
(2 pts)

b. Give the electron configuration diagram for the valence electrons for the same element. (2 pts)
(use the notation _ 4| | 14 )
Is 2s




Quiz V General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/29 W 10:30am form A quiz #

Name Name ik
(print name) (sign name) W S

Please show work for full credit and to get partial credit. (Piowmi=Pa+Pp+Pc+...)
(¥ = mole fraction =Pa/ Piotas = 11 A/ 11 tota1)

1. If a mixture of gases has a total pressure of 0.955 atm and the oxygen part of the mixture of gases is
0.150 atm, what is the mole fraction of the oxygen in the mixture of gases ? Show work. (4 pts)

2. a. Ifthe principal quantum number (n ) is 3, what are the possible values of the angular momentum

quantum number ¢ (2 pts)

b. How many orbitals are in the f subshell ? (fis the angular momentum quantum number of ¢ = 3)

[(0) (D 3} (5) (7) ] (circle one) (2 pts)

¢. How many maximum number of electrons are allowed in the f subshell?

[(2) (6) (10) (14)] (circle one) (2 pts)

3. Give the electron configuration for the element Sr using the notation (1s%, 2s%.....). Showall
electrons starting from the lowest energy levels. (10 pts)

Extra credit: a. What is the valence electron configuration for the above element ? use same notation as above
(2 pts)

b. Give the electron configuration diagram for the valence electrons for the same element. (2 pts)
(use the notation __ 4 | 14 )
1s 2s




Quiz V General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 10/29 W 10:30am form B quiz #

Name Name

{(print name) {sigh name)

Please show work for full credit and to get partial credit. (Piwtat =Pa +Pp+Pc+...)
(x = mole fraction =P/ Protal =1 A/ 1 10ta1)

1. If water vapor is 0.12 atm and the total pressure of the gases collected over water is 1.23 atm, what is
the mole fraction of the water vapor ? Show work. (4 pts)

2. a  If the angular momentum quantum number (¥} is 2, what are the possible values of the magnetic

gquantum number m, (2 pts)

b.  How many orbitals are in the s subshell ? (s is the angular momentum quantum number of { = 0)

[(0) (1) (3) (5) ] (circle one) (2 pts)

c. How many maximum number of electrons are allowed in the s subshell?

[(2) (6) (10) (14)] (circle one) (2 pts)

3. Give the electron configuration for the element N using the notation (1s2 2s%.....). Show all
electrons starting from the lowest energy levels. (10 pts)

Extra credit: a. What is the valence electron configuration for the above element ? use same notation as above
(2 pts)

b. Give the electron configuration diagram for the valence electrons for the same element. (2 pts)
(use the notation __ 1 | 11 )
Is 2s




